14.2

Notes BINOMIAL THEOREM (PART 3)

Day 3

OBJECTIVES: 1) Use Binomial Theorem find a particular term in a binomial expansion.
2) Use Binomial Theorem to find the coefficient of a term in a binomial expansion.

DEFINITION: THE RTH TERM OF AN EXPANSION
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1) Find the 12t term in the expansion of (x —x? )]8 .
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2) Find the 5t term in the expansion of (\/§ - 1)
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FINDING A COEFFICIENT OF A SPECIFIC TERM IN A BINOMIAL EXPANSION: l

3) Find the coefficient of the term containing x* in the expansion of (x +y? )30.
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4) Find the coefficient of the term containing a’in the expansion of (a + 2\/5) .
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5) Find the coefficient of the term containing x" in the expansion of (xz - —j .
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